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getaEd fafay qrarh o/ fifvem woamard) S god e 2

(1) TrETHNviE vgd (2) @Meffr T ggd

(3) HAR vgd (4) %2 9gd

Which method is used to determine the distance of different stars from the Earth ?
(1) Gravitational method (2) Parallax method

(3) Parallel method

(4) Direct method
2. %(ﬁwzqz) FE_ e IR,
(1) (2) T §HE
(3) (4) BREIES THae
Workmg of a Solar cell is based on A
(1) Stark effect ! (2) Coulomb effect
(3) Zeeman effect (4) Photovoltaic effect
3. WNOEE HEN HUso SaEdl diemitnn =1 ST gata A S Hien gran ?
(1) Y (2) ST
(3) 3Imiwg (4) IR AT
Who was the earliest to use algebra to solve astronomical problems ?
(1) Bhaskara (2) Brahmagupta
(3) Arybhata (4) None of the above
4. HIITAT A fesst mgﬁ{awna 7.
(1) Cu,Zn, Ag (2) Cu, Zn, Ni
(3) Cu, Ni, Ag (4) Cu,Zn, Al
The copper alloy German Silver contains ;
(1) Cu,Zn, Ag (2) Cu,Zn, Ni
(3) Cu, Ni, Ag (4) Cu, Zn, Al

5.  THREHMEREA WEHHl
3. fafvea sifufos = o,
5. ffeea geitved fag o
%, fengadi quiH SFHd.

oIl ST

(1) 31 M7 & ST AR (2) & o7 & S 3R
(3) 3 VN S AT (4) =0 Td ST R
A crystalline solid has

a. definite geometry.

b. sharp melting point.
c. anisotropic property.
Answer options :

(1) aand b is correct (2) b and cis correct
- (3) a and cis correct (4) All of the above are correct
Zoed] HHEIE! ST / SPACE FOR ROUGH WORK P.T.O.
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6. ey Tl
» ST FRofiie ‘
(1) R o LSFRICIREE]
© St ]
ceording to Mosele
', the basi 3 .
m W me Hm..n Emmm_:.u e basis for the c.ﬂ.“m%_n Mﬂm:.%aa:ﬁ of elements'1s
i omic mass ,
S (4) Atomic volume

(1) SF =
The five kingdoms =wav ey S
e P er the recent scheme of classificati ek
b .TS nmmmggﬂmm_ Annelida, Plantae Cpanes
2 _unor.mnm. T » Fungi, Plantae, Animalia
5 .?E gl, Plantae, Porifera, Animalj
e » Fungi, .EmEEm.mm, Plantae bEEE.
€ option given above is ncz,mﬂ. ? s i

6 @me
@ Oy (3) Onlya W @i
y.d

days in malarj
- 3
(1) anwwm_.oh et e o

3 irudi
(8) Hirudin (2) " Hemozoin

9, :@a@dﬂ = (4) Col t; 4 .,
(1) ST R a1 St e @&%&%ﬂa Eaig S
(2) e LER

(3) w=at
The disease “African Sleen (4)  SeesHt (duaw
parasite ? eeping Sickness” )

(1) Trypanosom
a
= (3)  Mosquito (2)  Paramoecium
e (4)  Tapeworm
) @nwﬁ&:m;__m HHISY WA Hhoregy Ter gt 2
@ sifraesd (2) deersen
gae and i . .4
and fungi are classified in which o?%mumo_m_o_.&ﬁwmmib
g groups ?

drimar
Angiosperms (2)  Thallophytes :
(4)  Bryophyte b,
S

Free] FHTHTAIdt
Y1 [ SPACE FOR ROUGH WoRrk = =

15 caused by which of the .mo—_oiu ._
. B

D

5 Al4

11. %ﬁsﬂ%%%%émﬁmﬂa@ﬂﬁ@ﬂaﬂa@

(2) TmEH HH
(4) TEFFAET

s does chlorophyll of the leaves get

(1) W fodim e e
(3) B A FER
In which of the following disease of plant
destroyed and the leaves shrink ?

(2) Citrus canker

(1) Mosaic disease of tobacco
(3) Smut of jowar (4) Rhizoctonia o
12. G o s @@ TR At AW 2 ()
(1) I N (2) w9fHt faret =
(3) UgHIfEAH @) Fiet zha s c
Which of the following biofertilizer is added in rice fields ? c
(1) Red algae (2) Brown algae w
(3) Rhizobium (4) Blue green algae 0p)
13. ] Sl 21 AT HTEART TR A HE. nw,,
w e fEed T ¥ S =
4. WAAT 99 D
F. AT GEEHE @ S wRrfasm fRfes F@ c
c
it IW : ©
(1) e 0 = (2) 3, M1 &
(3) e A MR (4) E @ 0D
Mechanisms by which bacteria becomes resistant to antimicrobial agents are
a. Alteration in surface receptors for drugs
b. MDR pump
¢.  Secretion of inactivating enzymes
Answer Options:
(1) Onlyaandb (2) a,bandec
(3) Onlyaandc (4) Onlybandc
14, whrdemd G faE .
(1) 3 AR Feet Tetera e AT
(2) farren FfdHTR oo I FETEGHT FeATS
3) e faren R i f e TR FATS
(4) e 9d FROTHS
Staphylococcal food poisoning is caused by .
(1) ingestion of preformed enterotoxin
(2) colonisation of mucosal surface followed by production of toxin
(3) colonisation of wound or abscess followed by local toxin production
(4) Al of the above reasons
P.TO.
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15. TYR Qene B IR e Y IR
1) R i Aewa we, T4 (G
(2) e IHR Aewa wi, T4 Rg
(3) T SR 3% Few e Tl Riew, Hew
(4) “IAd 4 Bt e w9
National Salmonella Phage Typing Centre is at
(1) Lady Hardinge Medical College, New Delhi
(2) Maulana Azad Medical College, New Delhi
(3) National Institute of Cholera and Enteric Disease, Kolkata
(4) National Centre for Disease Control

16. Wy W= it JavEEEt aHETa Ty fasr.

o] [4] [ [7]
5] [ [ [z

“ il avm Em
8| 4] e

m : i) . } 1
elect the logical column of digits for replacing the column of question marks

uhn.n
2] [e] [4] [2]
Bl sl s
3] [s] [« [2]

ol lon|m|en

ey 5] 1] 4] 3
(1) u 2 a H n :
6 | 4] ® )
8] 4] @l |

e ZHTHTRIS! ST /| SPACE FOR ROUGH WORK

|5

©18.

(4) R i ST

Select the pair of words or word groups that fit in each of the sentences to make two o
gseparate and having equivalent meaning in the given context. )
The stock market having plunged drastically, the investor's mood on the r
trading floor seemed incongruous. B
(1) enervated and funereal (2) inconsolable and sardonic -
(3) sanguine and buoyant (4), enervated and sardonic m
(@]
L LA L 2, 3, 4,5 I 6 TE N Haw T o, 3 @ wen 1 6= wn
feg gerEL AT AT 4 & wEm 6 <A fog gErEt A 1 A T T TEE TR T 2N
@%ﬂﬂ?ﬁﬂ%mﬂ@%%ﬁ%w@@ﬂ%% oM
garen Frlt ST A I BT U HE R ? N®)
(D)
P c
c
' w
0p)]
1 5
(2) 4
@ 3

(4) %%%:ﬂﬁw.

with numbers 1, 2, 3,4, 5

Study the accompanying cube
i ither 1 or 6 and number & is not opposite to 4. If this

Number 3 is not opposite to e1

cube is rotated so as o the top and right side face with
number 6 takes the front p or 2 now, then which aumber will be
on the right face ?

vy

1) 5
2) 4
(3) 3
(4) More information is n

Hoedl FTHRIG! ST | SPACE FOR ROUGH WORK

and 6 on its six faces.

eeded for selection
PTO
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19. e ST v e TR e

(1 2 2) 3 3 4 4) b
Accompanying net is folded to get a cube.

Select the number of vertices of the cube at which two or more diagonal lines on the
faces meet.

(1) 2 2 3 (3) 4 4) 5

20.

Hiq=T TRGHF S gHel X @l A1 @ aeed dan Heet vd fasn
q

& 47

A+ A

Study accompanying transparent sheet of paper X and select the fold that is made
using it.

(4)

* &

e - AN

#eeg] STHIAIST ST / SPACE FOR ROUGH WORK

D
21.

(3) 7wy Framh T HENIATER A1 e HaeHTE GAT aTReATd S JUAr i

9 A14

i et Aardell smcem wuiwga Aomen waEEEn ARl A wel STHEH
mﬂ@uﬂmﬁmﬂﬂ:ﬁ@ﬁ_mﬂmﬂﬂ%%hﬂm%uﬂﬁ T
W WagH HOAr Y AfF swa. W f g e ofeel @ sare gen g S6
ﬁﬁ&%ﬂmﬂgﬁﬂiﬂﬂﬂmi%ggﬁqﬂﬂﬂg

TRUR AU AT, S feden (s S vEe wR. s g 2@
Haelt ot waTT T S gatr g e .

IR,

(2) FrasTda HagA FOANER @E sE wTntys WemeAl HEdd Z9E TeM 2wE
Broar wer Al 3.

IR

(4) =TI A AT TRV IR T T4 Bl B HAgH FOAE e AU AR

ned By Scanner Go

The decline in voter turnout at elections is chiefly explained by the decline in <o¢b%
by younger people who have very different lifestyles. Older people are much moré&D
likely to vote. If this trend continues, probably this will lead to a point at which no

government can be said to have a mandate to govern as the number of voters will be

S

too small to indicate the wishes of the majority. Society needs, therefore, to find an

alternative to conventional elections so that the wishes of the people can be heard.

Select one option that best expresses the flaw in the above argument.

(1)  Elections are used in all democratic countries as the only well established

process of choosing a government.

(2) With the help of social media, young people may be more likely to join pressure
groups than to vote in an election.

(3) There may be problems in using alternatives such as internet and postal voting

due to remote residential places.

(4) People who are young now may become more likely to vote as they get older.

O] HTHIFIS! WA / SPACE FOR ROUGH WORK P.T.O.
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22. @A v focte mfedtat smaria s

L %ﬁﬁ%ﬁwﬂﬂﬂ%?mbcz@m_%%%mﬂ%
aﬂﬁﬂmg.z_o.wzﬂ?oﬂﬁdﬂ%&uﬁnﬂ%%s@.

II. E & O =0 96k 312, M, M =1 I9eies & 3.
III. C anfor N uehisi=a1 §4R FORIA 3ATed.

IV. B, D =0 3Eiee an[ 3012, Q =41 §6R 312,

V. M g Uil Gl e IR,

VI. P, S Q=41 SEi®e aFF 3R, D =1 WA IR

ﬂmﬁmﬁﬂﬂwﬂ?ﬁ,mﬂ@ﬂﬂlﬂ?ﬂ%@ﬂmﬂ:@ﬂj.ﬂoﬂ
iier sz S gad s o s 2

(1) Q 2 P
3) E (49 D

The following question is based on the information given below :

I. A, B, C, D and E are five persons sitting in a line facing South — while M, N, 0,
P and Q are five persons sitting in the second line parallel to the first line and

facing North, facing each other.

II. E is opposite to O who is just next, right of M.

III. C and N are diagonally opposite to each other.

IV. B who is just next to left of D, is opposite to Q.
/. M is at one end of the line.

T. P who is just to the left of Q, is opposite to D.

B shifts to the place of E, E shifts to the place of Q and Q shifts to the place of B,
-n who will be the second to the left of the person opposite to 0? .

(2) P
4 D

Q

E
7dt ST / SPACE FOR ROUGH WORK

D

23.

11 Al4

wefid gwaE Uk fauE anfn wn sEem JuTh @ o RI s RID faeiedl 3T@.
Ryaramdevta HHRTT ITEE FET I g, ,
furg ;& 1 @Y HIS YHITE 70 @A (teleshopping) FAT.
R :  RI — €1 Wi TR 20594 Traama.
RII — &t S FE0E AT39 GE] FOEE 92 Hed .

ot 39t ;

(1) dwa wro wed RI 3@ RI1 T

(2) ovaHa S wad RID 32 RI 9

(3) wWEHE HWUl S8l T FA4 RI far RIT a2
(4) ®wad ®ro RI & @ fHar RI1 & a@

In the following question, an Assertion followed by two Reasons RI and RII is given.
Apply reasons to the Assertion and find the answer.

Scanner Go

Assertion :  People, these days, are doing a lot of teleshopping.
RI - People are watching TV a lot.

Reasons :
RII — People, these days, are not finding time to shop in the market.

Answer options :

(1) Only RI not RII is a possible reason
(2) Only RII not RI is a possible reason
(3) Either RI or RII but not both reasons
(4) Neither RI nor RII is a possible reason

Scanned By

24.

TETEY TS BT e FE IS 8 R yarE e, TR @m Iadwe T 5 .
ﬁ_ﬁwﬂ._.nﬂmﬂ%mﬁﬁw.&.ﬁawﬂ%nﬂ%w?.&.ﬁawﬂ.
I @ TR awe T 2 FRR. vaTe Hen. | @ e aueEd fhd fRanel st

R ?

1 14 (2)
(3) 10 4) 7

Prashant starts from his house and travels 8 km towards North. Then he turns
right, travels 5 km, then turns right again and travels 4 km and then travels 3 km
towards East. Finally he turns left and travels 2 km. How far is he from his house,

12

in kilometers ?
(1) 14 (2) 12
3) 10 4 17

P.T.O.
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D D 13
A14 12 . A . . .
2PB € g TR gdg F. B 26. ﬁm&.ﬂ@@&&ﬂ:ﬁnﬂﬂm%ﬂuiq&.ﬂﬁ%‘ﬂ%%
25. B Ncgﬂﬂﬂwﬁmdﬂnﬁﬁwoogﬂmﬂ_ﬂq : : 1
s : : A dra sl T
weuTdd mo$%ﬂﬂmﬂﬂs¢aﬂﬁ£&.agmﬁ%mg (1) 616 =, . (2) 770 = . (3) 1386 <. . (4) 28 = AL
IR ? If the diameter of a circular track is 28 m and there is a 7 m wide road around the
track, then find the area of the road.
A (1) 616sq. m (2) 770s8q.m (3) 1386sgq.m (4) 28sq.m o
12% 0% .

. 27. e au HewEEE 5 7gUAT 12 fam A, nw
frgaT 2 . g S HwEaEE 15 v R fmm amwie 2 ()
= 23% 1) 15 @ 4 @ 12 4) 16 =

28% y Five workers take 12 days to weed a field. (qv]
=t
How many days would 15 workers take to do the same task ? %uu
(1) 15 (2 4 3 12 (4) 16 >~
—MN
A T Ay @ TER TIF ; 08, i sxdten s it ¥ 72 7 onk 7 W AW @A = T 416 T
% aree 9 Tl ?

(1) 1240 (2) 527 &, w " QA.H.v

(1) 20,3022 (2) 22,24,26 a8
(8?13 (Dl (3) 19,25,28 T (4) 17,25,30 T m

. , 25, 117, 25,

A survey is conducted on 6200 villagers staying in 4 villages A, B, C and D and : . o
The sum of the present ages of 3 persons is 72 years. Seven years ago, their agef)

m village B have red as their

having various favourite colours. 50% of people fro :
ave the same favourite

favourite colour. How many people from other villages h

colour ?

were in the ratio 4 : 6 : 7. What are their present ages ?
(1) 20,30, 22 years (2) 22,24, 26 years
(3) 19, 25, 28 years (4) 17,25, 30 years

29.

% 6% T 10 wik==n v fae T 26-25 ¥ fiesd. @ Tt wgw A fovdi 2
(1) T 1575 (2) T 500 (3) T 65025 (4) T 55125

The true discount on a bill due 10 months hence at 6% per annum is T 26-25. The
amount of the bill is

(1) ¥ 1575 (2) T 551-25

¥ 500 (3) ¥ 650-25 (4)

30.

People staying in various villages

Favourite colours

(1) 1240 (2) 527

mﬂmﬂmﬁ.ﬁa,mo%mwmg&&m“m"mﬁgﬂai%.ﬂﬂ.@@g?ﬂ
% 420 e, € 50 durieh fondt Aofi amea 2

(1) 210 (2) 126 (3) 252 (4) 170

A bag contains one-rupee, 50 paise and 25 paise coins in the ratio 5: 6 : 8. If the total
amount is T 420, then the number of 50 paise coins is

(1) 210 (2) 126 (3) 252 (4) 170

va QHW A.»V 1426

e VIR ST | SPACE FOR ROUGH WORK
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31. M aiqUedEn D
e sAvd . wroT=n A 15
Iyl 328 REw si@E whd ¥, R = qA fen 36 84, M W@ ARG YA FHANR! 37y (gran) v Faw
, JEfaEd IgA FA B &, Qe o 10 FIERET e W ofamn Ao ok,
(1) 10 ¥gard A, ST FrEaRHTA TEnE 7 5 A A L .
s (2) 14 ¥gard, 2019 %, T e ™ moﬁ%ﬁﬂﬁﬂw%%ﬂ SR SRS
(3) 147, 2019 2. 1 AeaEta 15 TR @ef : i
’ (4) 179, 2019 U TEATETA 9 SR i 3 2 "9 e S, A,
R erican astronaut Christina Koch is the female astronaut spending longest period (1) w4 (2) ®HF @)
space. She spent 328 days in space. On ________, she took off from Earth. (3) W ;O D (4) wEd = 03 Q)
Select the inappropriate (wrong) opti )
th ; o rong) option regarding Ayush B
(1) 10" February, 2019 (2) H.»:u February, 2019 N. WO nnﬂ.ﬂ” Indian families <.:=.__um rm=mmﬂmaﬂwm—mrwwmﬂ5umﬂ.wm.awu harat scheme. Qr.v
. Ayushman card holder family can avail medical treatment upto % 51
3) th A p 5 lakh free of C
14" March, 2019 (4) HQE March, 2019 CO8%: . . c
) M mm M_ﬂonm Hsﬂuwm; wmarmm will be benefited by this scheme ®
3 : . ousan ivate itals wi ) . .
PP T S ———— — = s opticna’ ate Hospitals will get status of Jan Arogya Mitra by this scheme. n.n\.w
%ﬂz%igg&%ﬂ%ﬁﬂiﬂﬂ%ﬁ% (1) Onlyb (2) Onlyc
32, R ST 3 e Hg R T e e S FHa A 2 (3) Onlyaandec (4) Onlybandd nWJ
; 35.  mWifedl aAm &Rl e aTd T
(1) e @ @) defm T i : TS T Tehel & @ T Hﬂaﬂaﬁﬂaﬁaw
(3) fommerh wggy (4) g P : el e foa c
. s 3.f.am. (UPD L 9 3hm SEEEe =
Guinness World Records has taken note of adventure swimmer Prabhat Koli who 9. .M. (AD 1L W@mﬂﬁﬁmﬁq w
has won the A.umuw.& Government Tenzing Norgay National Award and Maharashtra %, 3. (GeM) . SEd 3 R (0))]
State prestigious Shiv Chhatrapati Bravery Award. So far he has crossed six seas. g, @A, (LT IV. TR AR 7=
Among the following, which one water body has he not crossed ? waidt IW :
(1) English Channel (2) Catalina Channel : * ¥ i s
1 Iv I II 111
(8) Strait of Gibraltar (4) Suez Canal . (2) II v 1 11
@ 1 1 v m
33 o i ST Aeden 72 quid %H%%%ﬁ%ﬂ%ﬂa @1 : v .
. : ’ Choose the proper option which explains the concept and its utilization in daily life
Hed ST 81 FEHM JTH HIel 3Te. i with advancement of Information Technology.
i Concept Utilization
(1) 24 (2) 42 a. UPI I Artificial Knowledge Exchange
b. Al IL Digital payment system
1
@ 12 ()52 c. GeM L. Internet of things
In the last 72 years after freedom, in our country of 130 crores population, only d. LT IV. Online platform by the Government
persons have achieved the honour of ‘Param Vir Chakra’. _= mﬂﬂﬂ. oucocum : . d
(1) 24 (2) 42 o v I I 111
. . (2 I v I 11
3 12 (4)5 215 3 1 I v I
_ 4 1 I v 18l
PT.0.
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A4 16 : 3
36, sifgw Wl W) e R T, @ W @i @ F9 A SRS
iy fFst.
T4 7 fawm AR
A 2016 —3IM . 99 g
T 2017 - SHAER I 3R et
%. 2018 -7qs . o fregm
3. 2019 -FFR IV. TN TEE
et 3w :
H C - -4
(1) I o I\Y I
. (2) I III I v
@3 IV I I II
4 1 v o I
Choose the option which explains the correct order of place, year and Chairperson
regarding Akhil Bharatiya Marathi Natya Sammelan.
Year-Place Chairperson
a. 2016 — Thane I Jayant Savarkar
b. 2017 - Osmanabad II. Premanand Gajvi
c. 2018 — Mulund III.  Kirti Shiledar
d. 2019 — Nagpur IV. Gangaram Gawankar
Answer options:
a b c d
(1) III I v I
(2) I 111 I v
@) IV 1 I I
4 1 A% I m
37.  F yguu v did=an 3uerey gEAsan 9§ 2018 - Eﬂﬂﬂm@%ﬁﬂﬁmmﬂa
THd &4 faafed anfor gaifra Foam smen ?
(1) 69414 3f% &7 (2) 164663 fgs

(8) 771215 3feF & (4) 7084453fFH e

How many metric tonnes (MT) of e-waste was decomposed and recycled during the
year 2018 — 19 as per the Central Pollution Control Board’s information ?

(1) 69414 MT (2) 164663 MT

(3) 771215 MT (4) 708445 MT

D 17 Al4
38, faom menmi ‘it ifeer’ o o Frg et s 2
(1) IvEe fe (2) A, T 7
(3 &lw wesd (4) =wm.g. fim
Who has been appointed as ‘Queen’s Counsel’ of Queen of Britain ?
(1) Ujjwal Nikam (2) L. Nageswara Rao
(3) Harish Salve (4) R.M. Shinde
39. 3w 3% mefim ferewen fefied wrn gaf e mefemem s, o
a.  fefiea yramem armd wETg gE=n wRiwE. —
%, fefseomss wemmy 91gs 700 wEEr. n_n.v
3. fefeames weoma 2etew o . c
Tt SR SUE AR ? @
(1) %a o, 9o & (2) %9939, % AW 2 %w
(3) w4 &, T il A (4) w73, A 70 I
The following is a report on digital payment by The Era of Rising Fintech. w
a. Karnataka ranks first in the use of digital payments.
b. Maharashtra ranks second in the use of digital payments. ©
c. Bengaluru ranks first in digitised cities. an.v
d. Hyderabad ranks second in digitised cities. c
Which of the above sentences are correct ? a
(1) Onlya,bandc (2) Onlyb,candd O
(3) Onlyc,danda (4) Onlyd,aandb (0))]
40. 3= T FEUmEl FAEWOl TEd FAGUAEEG] A S@RE (AEES [aEE T

YT Seledn 3e I (IMPRINT-IT) di=Rmel S0 G290l 315 sam 2
T AETaeeTe STes

A

€. A.d.em. ofl| s

®.  JA.IAE.A., WA, AA.IAE.FEA, o TS

3. AR, WARA., JIEAEAAA., HEAEE LT, A EeE FeaEad
WIS

T I

(1) a3 i g (2) S

-(3) %99 A, 9 o % (4) S F i e

""" Who can participate in the Government of India (MHRD) proposed IMPRINT-II

scheme to inculcate culture of innovation among higher education institutes ?
Professors in Private Colleges

a.
b.  Professors in ITI
¢.  Professors in IIT, NIT, IIIT

. .,d. Professors in IIT, NIT, IIIT, IISER and Central Universities
" Answer options :
(1) Onlyaandb (2) Onlyd
(3) Onlya,bandec (4) Onlycandd
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41. %im§%§§%§§ "
- JueTe FEA HUATES
ggn%ﬂﬂ@ﬁsoﬂﬂﬂﬁ&ﬂ.ﬂmﬁm«ﬂ&ﬂ?ﬂmws a
WHEEA e e am
(1) vgmsft == e R I
(2) YRS . WIETHRE SNasH YR oAl
(3) THHER WIFUE G SMUR AT
(4) wifesftard ot STUR T 0 ot
For students belonging to the Scheduled Castes and Neo Buddhist mwmm sam Bm_ﬁa
get admission in the Government hostels, to enable Emﬂ to ﬁ mw_u e and
education, the Government has started for their lodging, boarding
educational facilities.
(1) Padmashree Baba Amte Swadhar Yojana
(2) Bharat Ratna Dr. Babasaheb Ambedkar Swadhar Yojana
(3) Karmaveer Bhaurao Patil Aadhar Yojana
(4) Savitribai Phule Aadhar Yojana
42, o= ﬁﬂa_%suﬂﬁamﬂmﬁwo%u&xﬁaaﬂmﬁﬂ_ﬁa;@%

16(6) TR A e, A @ fEe :
. ﬁ%mm%ﬂﬂ%im&&ﬂ 3 A AITEEaTETE Eeed] Ao S Y e e S

1 SREVIET S war Igd.
3. s ArTEETiEET 13% 94a SREu Y TEi.
F. 71 SREOTET T Nl @ AeiiTas 9 @r e
T, anfiie ATTEETEAT 10% T4 SRETR S TE.
el HIvA G TR A1ed ?
it I :
(1) Wed & 0T 8 @) 3,9, A3
(3) W H, F AU (4) eEd I H
For economically backward classes, by the 103™ Constitutional Amendment in 2019,

Article 15(6) and 16(6) of the Indian Constitution, following provisions are made.

Choose the correct option.
This reservation can be availed by persons not benefiting by schemes for SC,

ST, OBC.
The reservation proportion will be upto 13% for economically backward classes.

This reservation is for education and job related benefits.
The reservation proportion will be upto 10% for economically backward classes.

a.

b.
c.
d.
Which of the above sentences are correct ?
Answer options :

(1) Onlycandd
(3) Onlya,candd

(2) a,b,candd
(4) Onlybandc

guﬂﬂﬂ.—%ﬂﬂa | SPACE FOR ROUGH WORK
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19 A14

‘qud) R TR Wiig FEee W, #fre T A FE Wi gen 3 g S SvId
Ao TG FERAET 2019 =1 B TR AR e 372,

(1) Hfad faan. Rrarew
(@) wfaad wmu. @

(3) Hfad iy qrEmEE
(4) wrEier 5.8, g

Prof. Anil Gore, known as ‘Marathi Kaka’, was awarded State Government
award 2019 moH.. popularising Marathi language.

(1) Poet V.V. Shirwadkar
(2) Poet B.R. Tambe
(3) Poet Mangesh Padgaonkar

(4) Novelist V.S. Khandekar

Scanned By Scanner Go

HiTWEE gue fawE g9 (FEANAL) ¥ e =ide e wE e e g
YTt hivr ol 3T ?

(1) W

2 famn o

(3) Wz F9R
(4) ffy i

Who is the first Indian to be appointed as General Vice President of International
Organisation Development Association (IODA) ?

(1) Rajesh Reddy
(2) Vinaya Shetty
(3) Mohit Kumar
(4) Nidhi Sharma
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45. % SiaE HGA TEn (ISRO) Redew 2020 W HWTd AR i

(1) THER
(2) =am fimn
(3) UaHE
(4) el

The Indian Space Research Organization (ISRO) will launch
campaign in December 2020.

47.

an unmanned

(1) Gaganyaan
(2) Vyom Mitra
(3) Robonaut

(4) Fedor

46. Tl fumme Fi foum dm e ?
(1) wfum wirem 288 TEEH) 26 IREH, 1950 A TSI T Fe 1.
(2) ‘FrEm urQ e vedt’ @ a9 s TeeHgd e i 3.

21 A14

e Tegaerea ‘qErEn et e o e e
a1, WEM § USgUede & weafya snfor weifa wueas s A 3fmd wwa s et
wmdie v 39 39 wfey Fwe weed, 99 44 g duite ad e s
g HEl.
=, U™ g SEH© TSauTeAl 39 HITE FEedi aen gl s, avht @ g’
fecreh md.
gatd 3w
(1) foum st
(2) foum a s
(3) A faum st
(4) AEd T g
Consider the following statements about the ‘Preamble’ of the Indian Constitution :
a. It states the objects which the Constitution seeks to establish and promote and
also aids the legal interpretation of the Constitution where the language is
found to be ambiguous.
b. Like any other part of the Constitution, the ‘Preamble’ was not enacted by the
Constituent Assembly.

Answer options :

(1) Statement a is correct

(2) Statement b is correct

(3) Both the statements are correct
(4) Both the statements are incorrect

Scanned By Scanner Go

(3) ‘HEISA € FUTTETE FYT Ao @ ol Y ToHeIhEd Hach R, 48,

(4) O HE T

Which one of the following statements is correct ?

(1) On 26 January, 1950, 288 members of the Constituent Assembly signed the
Constitution.

(2) ‘Procedure established by Law’ was adopted from the Constitution of the
United Sates of America.

(3) The idea of ‘Joint sitting of two Houses of Parliament’ was taken from the
British Constitution.

(4) None of the above

. F.8. fRer gren Flguar wefa fumtd S g swda daos agde

T @Y W 2d ?

(1) ¥R HaUey & GEATeHS aehedan aifis frarors ag.

(2) u vef YT TorEe € HeteEETereAT dwErht ' w3t

(3) WA HE § Hehintle U giem A

(4) THIH TSN geEd AR S HHIINET 1 HetrearE gm 3 e Thied
T 3TT3.

As observed by Prof. K.C. Wheare, which one of the following statements correctly

shows the true nature of the Indian Federal System ?

(1) The Indian Federation is more a functional than an institutional concept.

(2) A one dominant party regime which is in conflict with the principles of
federalism.

(3) The Indian federation is not the result of an agreement between the units.

(4) It is a unitary state with subsidiary federal features rather than a federal state
with subsidiary unitary features.
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49. g fqun e e A - s » 3 A14
- gt AE BTe - TRk =TT A
] . PILEE! ﬂm:ﬂ mvu_ UG M_ LUE] TET=AT § = a .
Hﬂ%%%%i%mﬂﬁgi i - : m: . HHA HeATS ATETHA dH S ZE 30
: _Nzmmnmwﬁﬂdmﬂmﬂ_ﬂ_ﬂﬁﬁmﬂ.wﬁﬂad.ﬂuﬂwmﬂﬂﬁmﬂﬂﬁﬂmﬂmgmﬁwﬂ.
NJM nfg=r=a1 A s
. %%%%%wﬁw%imﬁmmu:_@ 9. TWYSEdR SHed sEEe S P |
SSIRULES gUal @i, s FHoed §d damEden S s a1 Hee g AT Q
qatdft I , GUROT, I HTAT IR ATE FA A1 7 FA GO AR, S
gt I : ()
c
(1) faum AR (1) foum @ (2) faum 3= m
(2 fam g s € LR (4) 2 forar A 3
Consider the following statements : >
(@) o faam S . 4 m
a. Any resolution of Gram Panchayat shall be modified, amended, varied 6€
(4) TgEl faam @m@mm nmbnwzma by a Panchayat after a period of three months from the date of ﬂrnm
passing thereof by another resolution supported by simple majority. C
: . : @©
Consider the following statements : R T TRtosof, Gram Panchayat shall be modified, amended, varied %
It is a joint responsibility of the Sarpanch and Upa Sarpanch to maintain cancelled by a Panchayat within a period of three months from the date of the
= * i ister mu.g other relevant passing thereof, except by a resolution supported by two-third of the total
secured custody and proper safety of proceeding regis number of members of such Panchayat.
records of the Gram Sabha. Answer options :
b.  The first meeting of the Gram Sabha in every financial year shall be held (1) Statement a is correct (2) Statement b is correct
: e firs
ithin two months from the commencement of that year. (3) Both the statements are correct (4) Both the statements are incorrect
w1
Answer options : 51, IO TG ST S Fetaie R 3 g ?
(1) A e (2) HEIE TH
is correct
(1) Statementalisc 3) e SR
(2) Statement b is correct The judicial control over administrative actions emanates from the Doctrine of
(3) Both the statements are correct (1) Judicial Review (2) Rule of Law
: (3) Delegated Legislation (4) Separation of Powers
Both the statements are incorrect
i FHoeqT FTTETA! ST / SPACE FOR ROUGH WORK P.T.O.
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52. aﬂﬂmﬁﬂﬁﬂ,@ﬂ%ﬁ@ﬁﬁﬁﬂ%&i 25 A14
FUFIA AT IR ? frm St ReRT e P R war ;
(1) i T SeaiEE S weRg, @ i ﬁE&nmqﬁﬁaﬁﬁﬁﬁﬁﬁma
T e AT el vAreT ST . _ % mﬁaﬂw ﬂ.w A T RO P i A F s s A i g
@) waﬂ@nﬂﬂﬂnﬂ%%ﬁmﬁﬂmﬂﬂw&ﬁ., . e ? __:m_b_m__ A .
3) w%nﬂ%%ﬁ%%@ﬂ%ﬂﬁ%ﬁﬁg (1) w A . o nw
EIEEA @ Fad S1q Ahdia. .
g1 #, 3 & e F=3 (2) wwWa —
(4) TSIgET=N A=DT — 163 TEA I qgH HOAT ) o
SR gAEEl TgdiA q9E IO AR, (3) 31 3nfr = = m
tion of the :
Which of the following has been wrongly listed as 2 recommendation (4)  FvEd T w
‘Punchhi’ Commission with regard to the Governor ? : A Consider the following statements : 7))
(1) He should have the power to sanction prosecution G0 L a. Public Accounts Committee h ; w
minister without or against the advice of Council of Ministers. ; as seven members of the Rajya Sabha.
(2) He may be removed by a resolution of impeachment passed by the State b. Itis Bmmn...obma. in the rules .&. day-to-day business of Lok Sabha that a Bvaﬁm
; ; : ’ of opposition will be the chairperson of Public Accounts Committee. -
Legislative Assembly. , : 2 =
(3) He may be removed by resolution of wBﬁmmnwEmE.vmmmmm by the Rajya Sabha Which is/are the incorrect statements from the above ? w
and agreed to by the Lok Sabha. . (1) Onlya )]
(4) Article — 163 of the Constitution should be .EHmuﬁ_mm.E a way suﬁm“\ he may no (2 Onlyb
be able to exercise his discretionary powers in a0 arbitrary mannet:
(3) Bothaandb
53. T 3T T S (RGSA) ¥ 3Te 2 (4) None of the above
(1) ﬂgagggg%ﬁ@ﬁﬂamﬁﬁ%%ﬂ; e - = 5 =
@ mammuﬂmﬁﬁq@%&%wmﬁ_ﬁ&ﬂang%_ﬂ EhumeE i, - X Eﬁ S e _m_EMam FI) e,
(3) TETEAT AT A _ i (2) =t & .uE. 3R
. SreaTgd 2o AT :
(4) wgar 9 e FA (3) = forh <ige
What is Rashtriya Gram Swaraj Abhiyan (RGSA)? A (4) g s fim B
(1) It is a scheme aimed to enable Panchayat Raj institutions ﬁn,. ﬁumvwwm Gram First Lokpal of Indi is
Panchayat Development p facs (1) Justice Dipak Misra
(2) Itis ascheme for promoting regular Gram Sabha and their records | @) Justice T.S. Thakur
(3) It is a scheme for increasing voting at village level SEREE (3) Justice Pinaki Chandra Ghose
: 2 O dnr h
e for promoting direct m_mn:ou.om the Sarpanch (4) Justice Jagdish Singh Khehar
2 —OR ROUGH WORK : _ Feed] FHTATAIS! ST / SPACE FOR ROUGH WORK P.T.O.
R - - 3
gﬂﬁ.&— SIrm | SPACE . i
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56. Tt T 3 S el ) e T e g0 59, M.W«%.&ijgsw;ﬁmiiqwﬂwmjwﬂq
1) Rz wEE @ fa. e @ = (3)  smuzam (4) Hemg
AT T ‘ (4) q aE FR J Where did the first revolt of farmers take place on 12th May, 18757 .
9 . i’ at Nashik. (1) Pune (2) Su i '
d intion by the RAae ‘Granthottejak Mandal pe (3) Ahmednagar (4) Solapur
tart: t en
(1) VD w mr ST (2) V.V. Shirwadkar 60. @il S .
.D. Savarkar . eza
(8) Justice Ranade (4) Anant Laxman Kanbers 1857 = Ierar<ht &3 T hw
HEa . M & L 3% T wwan i =
57. 18857 1915W F@@ _______ @ Hdw1 b w0 L h TR I ey v o
(1) =Y G § (2) WiF TEl A 2 Tt 111 ﬂmﬂ%ﬁ m
(3) wené ARh @ Pemis king of s i - n
Dt th riod 1885 to 1915 was known as the uncoronated king o = QVUJ
uring the pe: H q &% g
Bombay. Bhau Daji Lad (1) 1v ImI II I 0
(3) Dadabhai Naoroji (Q#Fherozs (@) IV TPRE R =
-
7 % e B ? 4 IV 1 Il 1
wﬂﬂﬂmﬁﬁaﬂ%g%m%mme:w ©
58. el ] Match the following : %u
3. <. SR Tight, T AR HIERH . Centres of the Revolt of 1857 Leaders
T, A STES Hie, TR T SR a. Peth I Vaikappa Naik Balwant Behari
foger T =i Hera Mdg TR b. Nargund II. Ramchandra Patwardhan
b2 mm . ¢. Jamkhandi Il. Babasaheb Bhave
Tifie faga $¢, U9 ARE ASHH
s. mﬂm. d. Shorapur IV. Bhagwantrao Koli
qgidt I : Answer options :
(2) wad ¥, q A F
(1) % A, @ AT S i al b HPotr d
(3) w4, H IS L 2 DRt (D IV, 7 T T e T
i ked for religious and social reforms t @ IV I m I
Who from the following have wor.
Prarthana Samaj ? 38 IV I I I
a. Dr. Atmaram Pandurang, Dr. R.G. Bhandarkar 4 IV I m 1
. Vaman Abaji Modak, Narayan Ganesh Chandavarkar 6L e ST Wk v S A s N
7 .mu.wm_ Ramji Shinde, Justice Mahadev Govind Ranade (1) e sead (2) e
ok .Snn. . hm_ HAEH»&. Rao Saheb Mandlik (3) faferm S (4) e A=t
d. Govind Vitt ; The demand for freedom for the colonies was like asking for the moon, said
Answer options : 2 Only 2. bande (1) Lord Dalhousie (2) Lord Ripon
a,bandd . : 3) William Jones (4) Lord Morley
€00 (4) Onlyaandb ( —

(3) Onlyb,candd

GH WORK
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62. i SoEe FRIFd wrar wieet 2) e A R 66. v 1820 WE} Fivrem e sreh e a5
N ( ATt e e 3 g= e 0
(1) o= a g e A ST (1) e fie sERarde s = .
4 ing L
(3) e WG e during - Lord 2) ffew w7 et G
The mam.n ﬂm._mm.nmvu line was laid from ——— ; (3) wEEA Bt ez fpire USThTA
Dalhousie’s SE?U e (2) Madrasto Delhi (4) wHifew figm
(1) Calcutta to Delhi Agra !
tta to .
(3) Calcutta to Madras (4) Calcu Which society started a school for Bengali girls in Calcutta in the year 1820 ? o
- ﬂmﬂ_.ﬂm._% m%ﬂm% HIT Fad] (1) Ow.un:gm Female Juvenile Society . G
63. 1875 WS} FERAI TH FEA i HHT FEA bR (2)  British Foreign School Society ar.v
STEE gt ? (3)  Society for Native Female Educatj
k ERELS € Kducation -
(1) rEw dErE JEs (2) (4)  Scottish Mission m
(3) Sy ST 4 ¥ zm_mﬁ_._ mw workers to form their &
Who from the following was in the forefront to unite the 87 & I AR TE e 3 T, 0
association in 1875 ? Narayan Rao Pawar T, @) @ friog (4) e Y
e ar
(1) ZmHmu,m..n._ mew&.. Lokhande MMW Sorabji Shapurji was the centre of Wahabi’ movement in North India. S
(3) Shapurji Bengali (1), Patoa (2) Delhi (3) Firozpur (4) Aligarh Q
.ﬂ n
e e T e A 68. E. S
64. Hd W WA FOToA AT 2 %u ol et STt S g i @R Ben s a6
(1) wveHe JEwie (2) ; : LW O
3) o wafe (4) wUAE Ao ¥ FERW I9Ed W, v M N
: £ nt establish the Railway 9. TRNEE g MR, A fage arsde
e chairmanship did the Bombay Goverame % i o, e R e
oard ? ;
(1) Lieutenant Prescott (2) Hw_d Dalhousie 3. R g, giars e
(3) Lord Elphinstone (4) Lieutenant Nelson gt 39
(1) %= 3, 9 anfor = (2) wad 31, & o g
65. gFret S Hiew e (3) ¥ A afr g @) wFF e
(1) ﬁ..._,ﬂ%_.m,nwwwﬂmm _.mﬁ“: o - : 3 S Who from the following persons helped Jyotiba Phule to run a Girls School in Pune ?
(2) sl - m¢ i %ﬂm wife w_.ﬂ 5 3 a.  Sakharam Yashwant Paranjpe, Sadashiv Govind Hate
mmﬁ_w <rel i MRS :
3 < i SR T B b.  Sadashivrao Ballal Govande, Moro Vitthal Walvekar
(4) arie HFH ; c.  Vishnupant Thatte, Keshav Shivram Bhawalkar
. air : 1
Find out the wrong p _ The All India Women's Council d. Kashirao Deshmukh, Haribhau Chavan
Answer options:

(1) Sarala Devi Chaudhurani

(2) Dr. Annie Besant The Women’s Indian Association

The National Council of Women in India

Only a,candd
Onlycandd

(2)
(4)

Onlya,bandc
Only a and b

(1
(3

(3) Meherbai Tata

(4) Margaret Cousins The All India Women’s Conference
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69.

30

71.

Trefle e J3 1
3. YHEE Td SE
. four @@l

%. 9T gur I
T e g
it IW :

uﬂ@%&%
I qﬂa@@%

[ AR g

o A4

g%ﬂggﬂ fop ‘ol B : . .
WRATE o sHfirER R 2 ‘fag amft F — 1960 TET WEEEH Fiven TN AR
(1) fay, fmm 3 gom
(3) 3™, waer 9 e )

(2) TE, frmm 3 Tees
foama, faam a sem

H o
1 I 111
2 I i
(3 I I
4 Iv I
Match the following :

"H2H A

k1
v
I
v
II

Gujaba Joshi Punekar

72.

a. Paramahansa Mata Prasamsha

b. Vichar Lahari
¢c. Follower of Sakta sect

d. Dadoba Pandurang

II. Krushnashastri Chiplunkar

III.
IV. Dharma Vivechan

Morbhat Dandekar

Answer options :

a b c
1) 1 II1 v II
2 I 1II 111 v
(3 1I 1 v III

4) IV I II I

d

70.

73.

As per the Indus Water Treaty — 1960’ between India and Pakistan, on which rivers o
water does India have absolute claim ? G
(1) Indus, Chenab and Jhelum (2) Ravi, Beas and Sutlej Qr.u
(3) Jhelum, Sutlej and Chenab (4) Chenab, Beas and Jhelum -
C
Grefierdht Hiva g @fe ety gara and 2 w
(1) Ehese @ Fmirrz n
(3) i (4) afadh T =
Which of the following is the best quality iron ore ? @
(1) Hematite (2) Limonite m
(3) Magnetite (4) None of the above m
@©
O
7))

wrefter fladien wfteirgs e wtet w9 @
(1) wmifge, fafcrarfiae, frfifias, @itk
(2) wifsenfas, fafreafae, srifae, frifls
@) fofrefas, fdifae, smifas, sifefas
(4) Fdfifes, smifas, sifvenfis, faferenfas

Correctly arrange the following passes in India from west to east :
(1) Mana Pass, Shipkila Pass, Niti Pass, Zojila Pass
(2) Zojila Pass, Shipkila Pass, Mana Pass, Niti Pass
(3) Shipkila Pass, Niti Pass, Mana Pass, Zojila Pass
(4) Niti Pass, Mana Pass, Zojila Pass, Shipkila Pass

wﬁmﬁﬁﬂg%\mﬂ%aﬁ_mmﬁm

a1 feaeht A e
74,

71 .

(1) Wi FET . (2) OSTEERR
(3) e faudt (4) ¥@ R
The day Lokmanya Tilak passed away,
was launched in Bombay.

(1) Civil Disobedience

the same day Gandhiji’s movement

(2) Non-Cooperation

e M & ge g1 TERgg e, Welidih! I=H T4 B ?

(1) arBEd 7 (2) <A g

(3) e 3fT T g (4) e fhar T aulE ga

Saline and Alkaline soils are also known by another name. Which is the correct
option given below ?

(1) Desert soil

(3) Wet and Marshy soils

(2) Chopan soil
(4) Chestnut or grey brown soil

(4) Quit India

(3) Anti Liquor

ggﬂq&w oI / SPACE FOR ROUGH WORK
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75. = s T A wefted e awr A 78.  wAmoEl 2001 3f1 2011 S wETTY TEEen o e fEf wew e 2
(1) WENE —SeETe (1) 09 (2) 90 (3) 19 (4) 29
(2) WY — WEd W2 What is the difference in sex ratio of Maharashtra State as per Census 2001 and
17?
(3) T WeW — BHIETE -
7 (1) 09 (2) 90 (3 19 (4) 29 o
TEAIE — FAICH
? O
1 s X : Tiger Reserve : 79. Tl faum gE
Which of the following States are associated with Pench N
3. HES YT TS OR=AT eI T4 AT, o
(1) Maharashtra— Chhattisgarh = o i c
. HE®D FAHMATGS HArez@en . C
(2) Maharashtra— Madhya Pradesh &, i U Gy o e 7 . w
(3) Madhya Pradesh — Chhattisgarh ot Y 5 al 3
(4) Maharashtra— Karnataka (1) v faue o1 s 3T (2) o @ i Py
76. 2001 AT FTATHIEAR uﬁ%ﬂ%%%%ﬁ%ﬂﬂ. (@) fawm 31 o7 7 e sRa (4) foum = snfor % == A=A xo)
" d 0 ] : b}
D (2) TEWE bserve the mo:.“..i_sm statements : c
nfew Te o a. Maval section does not come in rain shadow area. m
(3) ToEM 4) b. Maval area is known for its climate. O
As per 2001 Census, the following State has the highest population of Scheduled ¢. Kasheli Ghat connects Poladpur and Mahabaleshwar. N
Tribes in India. | Answer options : ,
(1) Odisha (2) Maharashtra (1) Only statement a is correct (2) Only statement b is correct
(3) Rajasthan (4) Madhya Pradesh (3) Statements a and b are correct (4) Statements b and c are correct
71. ﬁ%mo”uﬂﬂ%ﬂ%%q@ﬁ@%%@ 80. TG %S WENIETAT Hivied fiegama aesdnd ?
(1) s ITR, I, GaE I, FeE, T @) Arrg (2) R (3) it (4) e
) ’ ’ 1 :
o mmw - mmw oot - =i In which district of Maharashtra are the ‘Darekasa Hills’ located ?
ok : s T, 9, A (1) Nagpur (2) Chandrapur (3) Gondia (4) Gadchiroli
(4) @, G W, FeATR, I, GI¥ IFR 81. 2011 <41 SR AR TeRRich fegar ‘Treaedet a1ar 1 e ?
As per 2011 Census, which are the first five districts according to population density (1) 163 .fe. (2) 193 fmA.
in Maharashtra ? (3) 74 = .fEA (4) 93 <.fr.
i Suburb, Thane, Mumbai City, Kolhapur, Pune . .
M” “Enwm._ M_“ EE;E_UH TR wﬁmzmo_rmuma i As per the Census 2011, what is the ‘Population density’ of Gadchiroli district ?
umbai City, r ) H
r (1) 163 sq.km 9
(3) Mumbai Suburb, Mumbai City, Thane, Pune, Kolhapur ! (2) 193 sq.km
(3) T74sq.km (4) 93sq.km
P.T.O.

(4) Thane, Mumbai City, Kolhapur, Pune, Mumbai Suburb
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82, Greiter faum ver -

3. e Al ST e am

. IR vt go) regaa m.

%,  foawcn 95 w9 ww ware fiegam o

3. At g am see fegam AR

FE Fvrar/A faum/3 T am/a ?

(1) %va ¥ faym a0 am (2) wH 9

(8) W 31 93 fum ==t ama (4) b wd

Observe the following statements :
a.  Verul caves is in Aurangabad district.
b.  Chambhar caves is in Pune district.

c.  Chikhaldara hill station is in Raigad district.
d. Gautala National Park is in Jalgaon district.

Which of the above statements is/are correct ?
(2) Onlybandc statements are correct

(1) Only a statement is correct

(3) Only a and d statements are correct (4) All the above statements are correct

83. ﬁﬂﬁawwﬂ_mﬂ

w1 w9 II
(3itfeors fasrdg) (Rreq/fawmon)
H. den I 3«8
T gd II. 36
C T IIL.  3m
. et
Tt 3 ; S T
H o & g
(1) I v I 1I
(2) III I II v
(3) I I v II
4) I v I II1
Match the following :
Column I Column IT
(Thermal Power House) (District)
a. Chola I. Mumbai
b. Turbhe II. Akola
c. Fekari ITI. Thane
d. Paras IV. Bhusawal
Answer options : :
a b c d
(1) III v )| II
(2) III I I IV
(3) III I v 11

(4) I v I III

35 A4

(1) weure, FIEER, AT, ST
(2) e, SR, FaEe, T@ae
(3) wzHwR, FURITER, SR, SEE

: : : o
(4) weHTE, HAETHE, JEICAR, Hureliae D
—
Which of the following sequence of Ghats in Maharashtra from North to South i
correct ? m
(1) Thal Ghat, Kumbharli Ghat, Amba Ghat, Amboli Ghat w
7))
(2) Amboli Ghat, Amba Ghat, Kumbharli Ghat, Thal Ghat >
m
(3) Thal Ghat, Kumbharli Ghat, Amboli Ghat, Amba Ghat -
(4) Thal Ghat, Amba Ghat, Amboli Ghat, Kumbharli Ghat an.v
C
©
O
7))

Zeeg] FTATATS! ST / SPACE FOR ROUGH WORK

T — quitEde T T F SR e w2
(1) firom, =8, i, 9o, T
(2) T, gud, e, 91, fwon
(3) T, gE, from, &Y, wigw
(4) T, wisw, fiwom, g0, Sd

In Tapi — Purna river basin, which of the following sequence of rivers from North t

. South is correct ?

(1) Girna, Bori, Panzara, Burai, Gomati
(2) Gomati, Burai, Panzara, Bori, Girna
(3) Gomati, Burai, Girna, Bori, Panzara

(4) Gomati, Panzara, Girna, Burai, Bori

Foeq] SIS AN [ SPACE FOR ROUGH WORK
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86.  TRORKA wﬁ&mgﬁuaﬁﬂm%%nmaﬂmzw ™ D 37 A14
(1) digs (2) ==d (3) wH e Righest gro 90. Wma 7 e Hafa el TETEF 291 TR,
— has the major foodgrain crop production recorded & Wth (1) @m (2) @ (3) famz (4) =
after green revolution. India is the world’s largest producer of .
; (4) Wheat
(1) Rice (2) Bajra (3) Maize (1) Jute (2) Steel (3) Cement (4) Sugar
87. U uHiv ISR &t @1 (NREGA) i%ﬂmgﬂ. 91. Hom0|muwwo§|$£ﬁmﬂd§m§mﬁmmd&ﬁmﬂﬂiﬂm&u aarn T
(1) TR 2001 (2) @ 2002 aFAH AT IR,
(3) TLR 2005 (4) | 2011 (1) 1667 26:2 (2) 30-6d 592
The National Rural Employment Guarantee Act (NREGA) was enacted in (3) 1697 362 (4) 1567 36:2
; The share of secondary sector in GDP in India from 1950 - 51 to 2013 - 14 has
(1) October 2001 (2) October 2002 increased by per cent.
(3) September 2005 (4) September 2011 (1) 16:6to26:2 (2) 30'6to59-2
(3) 16-9to 362 (4) 15-6to 36-2
88. Gefladehl vl Hz THRE! Fhid A1 TZ7 ?
(1) a3 (2) W FHA g2, dgeet TEFZEN 2011-12 WA WiAW ofgd (@ SrhEedd  FESl TEm
(3) i fawd (4) fadeh wed . ‘
Which of the following is not an outstanding liability of Central Government ? (1) 219% (2) 27-5% (3) 372% (4) 42-9%
(1) Internal debt (2) Market loans According to Tendulkar Committee, the total percentage of population in India below
(3) Treasury bills (4) Foreign aid the poverty line in 2011 — 12 was
(1) 21-9% (2) 27-5% 3) 372% (4) 42-9%
89. dig=m fam sEPR TawN SEEed nfyr sicewEs S¥aeav - (FRBM) - <hr=men
93. TS SFEEN HRUl 2000 ¥ AehIeTE (AESdEE) I @ €

Qrefterdehl v gar geafaen ?

(1) fochg wsfteamor fad

(2) fodfla g

(3) WHegd 3N Fel sqaeeEn

(4) =t water enfor fafa SR e

Which wm. .nrm following has been suggested as a substitute for the Fiscal
Responsibility and Budget Management (FRBM) Act by the Fourteenth Finance

Commission ?

(1) Fiscal Consolidation Fund

(2) Fiscal Deficit

(3) Revenue and Debt Management
(4)

Debt Ceiling and Fiscal Responsibility Legislation M1

FTTqT ST AT / SPACE FOR ROUGH WORK

3. %ﬂg%&ﬂ%@ﬂ@mgﬁﬂ%%%i.
9. TEY OEA g E deell GUeAl el gadht Sl L.
%. |4 gAE (AEH) TR T 9w

gt 3= :
(1) waa g (2) W H (3) w4 (4) eEd A

_ The immediate objective of the National Population Policy 2000 was

to meet the needs of health infrastructure and to provide basic reproductive

health care.
b. to lower the total fertility rate to the replacement level.

to achieve universal immunization of children.

a.

c.
Answer options : ]
(1) Onlyaandb (2) Only c (3) Onlyb (4) Onlya

P.T.O.
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94. %%%%%wﬁﬂﬁmﬂ%ﬂ
1) Y @ ~ ey o T
(3) T qr 4) . important principle ?
The WTO agreements are based on which of the m&-oﬂ.ﬁ%ﬁmm nation
(1) Non-discrimination ) HMMM.M. the above
(3) National treatment 4)
95. @i faum faemrg o : %@%ﬂﬂamﬁﬁﬂmi.
A U it R g @ SRS TS ot A T

. W () e R 3
et e

%, U o g I @ w2009 - 10 A e T AT

Fieihl Facveh faumA ge /A ?

(1) fodt fum 5= amea

3) B

Consider the following statements : |

a. Rashtriya Krishi Vikas Yojana was launched during the 11* Five Year Plan.

b.  The Mission for Integrated Development of Horticulture was launched during
the 12 Five Year Plan.

c.  National Food Security Mission was launched in 2009 — 10.

Which of the above statements is/are incorrect ?

(2) wHH
(4) A

98. iz ¥t vy A

39 A14

A vl smdt 7 1 @ v g
a. A, g e 1 TIE TEET

F. A, Frd 2vamm wE@

3. RIVE wEa F9 2d1 JO AT
watd 3

(1) w3, wafrs

(3) wad =, Fafir g

The main features of Payment Banks are

Go

(2) aEd 3, F =0 5
(4) wgd A, T A0 2

. Choose the correct sentences

anner

(1) All the three are incorrect (2) Onlyb
(3) Onlyc (4) Onlya .
96. T 2018 - 19 ¥ WRArdie fAgfa 3= ﬁ_ﬂwﬂﬂﬁﬂg@
(1) @mas (2) AR HUQ
(3) Tt T (4) T anfur iR

occupied the first place in India’s export earnings in 2018 — 19.
(1) Jute garments (2) Readymade garments
(3) Engineering goods (4) Gems and Jewellery

97. iﬁg.gﬁggﬂﬁa@guﬂw

(1) Sefged (2) nfio fagdem

(3) T WA TSt (4) Ardfior W

Which one of the following is not a part of Bharat Nirman Programme ?
(1) Irrigation (2)  Rural electrification

(3) Schools in rural areas (4) Rural roads

Zeeg] IS ST / SPACE FOR ROUGH WORK

a.  toaccept deposits upto T 1 lakh per individual n.w
b.  to allow the use of ATM and debit cards >
c.  toallow the use of ATM (a)
d. not tolend in any form o)
Answer options : n_n.v
(1) Onlya,candd (2) Onlya,bandc C
(3) Onlyb,candd . (4) Onlya,bandd w
ot

99. TWNM HWA (2014) TR &1 2011 — 12 T, T 7 W&l wmmand e saven &
o kil areft fafeea oA s,
(1) 32 amfir 47 (2) 32310 67
(3) 32 = 87 (4) 31t 97
As per Rangarajan Committee (2014) defined poverty line for 2011 - 12 for rural and
urban areas per capita is ¥

(1) 32and 47 (2) 32and 67
(3) 32and 87 (4) 31and 97
100. 3IIfFEGH IFA™ 2018 FHR MWANIE Faid #HiWd 1 ZF dh UNE IoEE e
T IR,
(1) 41 (2) 35
3) 173 (4) 83

The Oxfam Report 2018, says that the richest 1 per cent of the people are generating
per cent share of National Income in India.

(1) 41 (2) 35
3) 73 (4) 83
FTTIT FHTS! SR / SPACE FOR ROUGH WORK
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